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1.

2.

3

4.

5.

6.

7.

8.

9

10.

12.

13.

14.

15.

each as A, B, C & D.

Instructions: Each question under this part carries ONE mark. Please readthe instructions carefully andanswer thequestions by. selecting
the most appropriate answer out of the nmultiple answers given below

(A) National

Thereshall be negative marking @ 0.5 mark per questionfor wrong/multiple answers.

Instruction for qucstions 1 to 4:|: Findoutthe wrongly spelt word.

(A) Usual

(A) Patrol

(A) Independenc

(A) Application

(A) Addmision

(A) Wellcome

(A) Urggent

11. We

(A) will

There

(A) was tO

Instruction for questions 5to 8:Find out the correctly spelt word.

(A) could

Allstudents

(A) must

ENGLISH :40 Marks

(B) Anthem

(B) Actual

(B) Incom

20) by government.

(A) complete

(B) Foreigner

(A) regularity

(A) sufferingly

(B) Applecation

(B) Admission

(B) Welcom

(B) Urrggent

Instruction for questions 9 to 12:Choose the most correct/appropriate option.

PART-I

have won the match; but sadly I lost.

(B) dare to

Instruction for questions 13 to20:

always respect our elders.

(B)) should

(B)

(C) Business

(C) Arival

(C) Village

(C) Partition

(B)
completely

(B)
regulately

(B) suffer

(C) Aplication

be a famous sweet shop here 20 years back.

(B) would i (C) used to

(C) Admision

(C) Welcome

(C) Urrgent

(C) need to

obey the school regulations to maintain discipline.

are able to (C) could

(C) can
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(C) Completing

(D) Trycolour

(C) regulatingly

(D) Approval

(D) Enough

Fillin the blanks of the paragraph written below with most suitablelappropriate word from the options

given against each question as indicated in thc blanks.

br

(D) Trader

"Milk is a (0 13 food full ofvitamins and proteins. Children should drink it (Q.14)_ othersise
they might (0. 15) trom under-nourishmen. ters musl also (Q. 16) it; but those who cannot (0. 17) it

(D) Applicasion

should eat fruits and vegetables as an (Q. 18). We
should (Q. 19) milk ofgood qualiy from milk booths (Q.

(D) Admmision

(D) Wellcom

(D) Urgent

(D) could

(D) should

(D) may

(D) will

(D) completion

(D) regularly

(C) sufferingritni (D) suffered
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16.

17.

27.

18.

25.

26.

19.

20.

21.

22.

23.

24.

(A) taken

(A) affordance

(A) alternation

(A) purchase

(A) openingly

(B) taking HH! (C) take

Instruction for questions 21to 24:

t (B) affording

(B) alteration

few places / take rest /on the / there were /to/ way

(B) purchasinglye

(A) Places there totake rest were few on the
way.

(B) opened

(C) There were few places to take rest on the
way.

wheel /is /man's /the / invention /greatest / perhaps

Arrange the words (parts of a sentence) properly to 1om a correct scntence.

(A) The wheel is perhaps man's greatest
invention.

(C) Perhaps the greatest invention is man's
wheel.

very difficult / it was / to travel / earlier/ long distances
(A) It was very difficult earlier travel to long

distances.
(C) Earlier long distances was very difficult to

travel it.

backs / their belongings / travellers carried / on their
(A) Belongings carried their travellers on their

backs.

(A) pour into a cup

(C) Their travellers carried on belongings on
their backs.

(A)

Instruction for questions 25 to 27:

willbe added
(C) is added

(A) is put in it and stirred

(C) has been poured into a cup

(C) afford

(C) alter

(C) had been put in it and stirred

(C)

(B)

(C) purchascd(D) purchasing

open

(B)

On.

(D) The way to take rest on few places were
there.

There were few places the way to take rest

(B) The wheel is man's greatest perhaps
invention.

Fill inthe blanks of the paragraph written below with most suitable/appropriate passive voice from the
options given against each question as indicated in the blanks.
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(D) Perhaps wheel is man's greatest the
invention.

(B)

In order to make a cup of tea, boiled water (Q. 25). Then a spoonful of sugar Q 26)to it. Some milk (Q.
27). A cup of tea is ready."

(D)

(D) took

"How to make a cup of tea

(D) afforded

(D) Earlier it was very difficult to travellongdistances.

(D) alternative

Itwas difficult to very travel long distances
earlier.

(B) Travellers carried their belongings on theirbacks.
(D) Their backs carried their belongings on

travellers.

(D) opening

ispoured into a cup

had been pour into a cup

(B) add

(D) added

(B) is putted in it and stir
(D) put in it and stir
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28.

29.

30.

31.

32.

33.

34.

35.

36.

Instruction for questions 28-30:

Choose the best/appropriate meaning of the ind.td seoris sbi anintsyo E io gigsgo
As directed by my boss, I have prepared the meeting agenda.

(A) list of food items be served in the
meeting

(C) persons to be present in the meeting

(A) not available in all seasons

Korapat district ofOdisha, which is a very hillydietrict boasts ofmany perennial streams that help in local
agriculture.g 7 ovd ot

(A) streams supplying waterfor irrigation(B) streams tiowing only during rainy season
(C) streams flowing from hills and forest (D) streams flowWing round the year

Amongst seasonal fruits, I like mango the best for its sweetness.

(C) available in all seasons

Instruction for questions 31-35:

They

Fill in the blanks with the most appropriate option given.

(A) will miss

(A) any

Itry to visit my relatives in my home town

The dentist cleaned my

(A) teeth

the train if they do not hurry.! 4

The crowd

(A) were getting

(B) will have missed

(B) every

(B) teeths

with some liquid.

restless as the day got hotter.

(B) will get
Your writing is bad but mine is

(A) worst (B) better

Instruction for questions 36-40 :

(R) issues to be discussed in the meeting

D) agencies to be present in the meeting ..

Rescuing the people was difficult because
(A) being a Sunday, govermment officials were

not available
(C) the river was deep at the accident place

(B)

(D)
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(C) are missing

other month.

available in the local area

tastes sweet

(C) each

Read the paragraph given below and answer the questions.

(C) tooth

(C) was getting

(C) badder

(D) miss

(D) some

(D) tooths

(D) is getting

(D)

At least 21 people, including six children, were killed when an overcrowded tourist boat sank inPoorapuzha river in Tanur in kerala's Malappuram district on Sunday evening. Rescue workers said thehouseboat carrying around 35 tourists, against its Sanctioned capacity of 20, over-turned during a joyridearound 7 pm. The operator had permission to run the service only till 6 pm. According to survivors, theboat swayed and suddenly overturned trapping the tourists underneath the vessel. It is said there were notenough life jackets onboard. Fishermen said the river is deep at the accident spot and rescuing the peoplewho were caught underneath the boat was a tougn task. Tanur municipal chairman P P Shamsudheen saidthe private party operating the boat carried more people than allowed. That was the reason for theaccident," he said., Many of those who died were women and children who had come for a ride amid theongoing school vacations.

Worse

8

(B) the boat was carrying excess people

(D) the people were mainly tourists (a)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

What other rule violation was committed by the boat?

48.

(A) operating on a government holiday
(C) carrying tourists in the boat without

swimming test

(A) the rescue team

Who should be responsible for not having enough life jackets?

(C) 21

The boat overtumed because

(A) there were not enough life jackets

the boat operator euod 1otail (D)

(C) there were many children and women

(A) a95Q 96A aig

(A)

Approximately how many extra persons were in the boat beyond its sanctioned capacity?e
(A) 20

(C) QNA9g

(A)

g4 44 Q 48 6Q @aiaiQâGi @GNg@eQ age â @eg AIRI

62@|

(A) aIQ1H

(A) al1a

(A) gasI91

(A) aGra SQIG

9iir h(E)

(A) solsi

(B) aIga1

Ds i )

(B)

(B) 9di

(B) @Q0QN

(B)

(B) q6O4G 6RIGAISA

operating the service after 6 pm

carrying children in the boat

(B) 35

PART-II

the local fishermen

(B) the river was deep

ODIA: 35 Marks

(B)

the tourists themselves who were supp0sed
to have their own life jackets s

(D) there were more people than the allowed

(B)

(D)

(D) a sA59 IGI ?

(B) gG GG61 GR1 |

(C) dlQg
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(C) ang!

(C) qOI

(C) 6QIGASAH

(C) 16QJ61

W2D) dIQIg

(D) aeiat
(D) 0l

(D) g6GHG 6QNG

(D) @o

0C
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ga 49 52 6Q

49.

50

51.

52.

53.

54.

55.

g 53 Q 56 6Q

(A) GIqyâe

58

(A) go1sai@eI

59

(A) qesAqQ

60.

(A) 19RgA

(A) 6@laesa @IGgg QQGI

(A)

(C) a g4

(A)

56. @leIeI

aê @ajai

(C) gai aâgg

e 6Qel

(A) @a96Q aGIQ

(C) gal GI

(C)

(C) aÍ aAat @cnôIR1

g4 57 Q 60 6Q QaAIQiQI QIGHaal qeiaäei6QIGOIEN QI

(B)

(A) 61g 610, AI 6Q10

(B) qôsaic

(B) QSRA

(B) 10NaI

(C) aiqyâe

(C) gôsaigiei

(C) a109881

(B) g6AIA a@e1

(C) 995AGQ ni sees D) Q6R4Q

(B) 9 @@a

(D)

(B)

(B) @ gêu soGel

aQYQ O@RI(D)

QIGeI

(B)

(D)

6aaie 6eai

CRE2023 / CI Page 7 of 24

saG sala, AIR 6Q18

(B) a nga
(D) 6@a SIQ6GI1@Q

(D) lyâe

(D) ge16Q16I191

(D) 199861

(B) IQ1 gsA 6QQ1 AR 60iei
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61. On holidays, I prefer to stay at home than going out.

62.

63.

64.

65.

66.

67.

68.

His bicycle is better than minc. )

(A) o'a aiasen 6Ai'oi GI
(C) 6ai'aiasaa oi'aia6@nolQQI
Don't let your family suffer for your negligencc.

He has bcen staying in Malkangirisince his childhood.

(C) sa e'a IRHGI AIAAIAGisQ QQaiqanI

He called a taxi for me.

(C) 6a 6A160 66I5G SIâ 6QIâoI@AI I

(A)

(A) 900o seI
(C) 9800 6e1

(B) o'6 gI9699 6ai 'a1n6aA0IQ QR I

(B) 6a 6169 661166 GIRâOIQAI gI A|

(B) $00 6e.

(D) 9800 6@

(B) ll691 alniA1 9ô

CRE2023 /C/Page 8 of 24

(D) G66Q a9QI1 9ô
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69

70.

71.

(gs 70 75): @iaiQâGlQe1 IGHQ

72.

74.

(A) ala
(C) QUeain

75.

(B) IGlIP G eialj
1D) IS6l

I have not yet in my life caten anyfruitsweeter
than mango.

He does not like me as much as I like himn

73. Seek happiness in whatever you do, small or big.

Mighty Himalayas and vast Indian Ocean bound India in north and south respectively.

CRE2023 /CI Page 9 of 24

I wil! talk about my sister's marriage with my father after she returns from office.

People have started leaving this place since a feW years.

(B) 61| QQ611 dôa 6neIO60 61 Qas1 G eIlIG

(D) 691 GIal aâgQ 6T6GI 16Q oi'a9 6711°QQ61Q
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76.

77.

78.

79.

80.

81.

82.

83.

Instructions: Each question under this part carries ONE mark. Please read each question carefully andanswer them by selecting the right one out of the multiple answers given below each as A, B, C & D.
There shall be negative marking @ 0.5 mark per question forwrong/nultiple answers.

(A) 120 cm², 44 cm

Find the area and perimeter of a rectangle having length 12 cm and breadth 10 cm.
12cm 6@a G 10cm ag @¢ YG aIgOSAQ SA9RG 10 69s ?

If perimeter of an equilateral triangle is 27 cm, what is the length of its sides?

(A) 13cm, 7cm, 7cm (B) 10cm, 9cm, &cm

(A) 10 Ltr.

PART III
MATHEMATICS -35 Marks

(A) 114

(B) 120 cm², 48 cm

(A) Rs. 80

A mixture contains milk and water in the ratio of 5 :4. If5 litres of water is added to the mixture, the ratiobecomes 5:6. How much milk is there in the mixture?

(A) 40

Sum of two numbers is 25 and their difference is 13. Find their product.
QQ6aSHIQ 5a1610 25 G GGAR 13 a66 IaSHI QQGQ 161R 6969 ?

(A) 60%

(B) 15 Ltr.

Find the mean of first five multiplesof 8.

In the series 357, 363, 369,

357, 363, 369,

(A) 413

(B) 325

Find the simple interest on Rs. 4000at annual rate of interest of 5% for 6 months.
4000 sGi Q06Q QIÊR 5% gd QI06Q 6 AIAQ a0A qU 6R60 6QQ ?

(B) Rs. 800

(C) 128 cm', 44 cm

(B) 16

(C) 9cm, 9cm, 9cm,

(B) 6000%

(C) 7.5 Ltr.

(B) 417

(C) 38

(C) Rs. 100

CRE2023 / C/Page 10 of 24

(C) 32

(C) 259%

.,what will be the 10th term?

Ram's salary increased from Rs. 24,000 to Rs. 30,000. Find the increase in percentage.
QIA 6AI g 24,000 6i 30,000 GiGG@. 696 noL606o A9@01 GQI ?

(D) 124 cm', 40 cm

(C) 411

(D) 10cm, 10cm, 7cm

(D) 12.5 Ltr.

(D) 12

(D) Rs. 200

(D) 24

(D) 20%

(D) 405

https://applink.adda247.com/d/XhqWf9lSap
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84.

85.

87.

88.

89.

90.

91.

Which one of the following numbersisdivisible
by3?

R6. If 15 x 157= 15°, find the valuc of 'y.

92

(A) 7249

Findthe perimeter of a square having area144cm.

• (A) 12 cm

(A) 24

g 15 x 1§Y= 15° 696e 'y'a gH 6A6e ?

(A) 20

Find 8% of 625.

625 Q 8% 6960 ?

(A)

625

(B) 9332

In how many years Rs. 3100 will become Rs. 6200 at A0/, simnle interest per annum

eIe 4% a09 qU QIQ6Q. 3100 G9 6200 5Q91 QI sASO Qd AI? ?

(A) Rs. 6300

(B) 36 cm

(A) 60

(A) Square

(B) 2

are sold,

(B) 30

(A) 10% Profit

(B) 800

625

(B Rs. 3000

(C) 8168

(B) 10

(C) 24 cm

(C) 5

(B) Circle

(C) 15

After spending 30% of the money he took for shopping, Hari is left with Rs. 2100. How much money he
had taken for shopping?

(B) 1 % Loss

(C) 625
8

(C) Rs. 14,700

CRE2023 /CI Page 11 of 24

Out of 200persons, 140 like tea, 120 like coffee and 80 like both tea and coffee. How many like neither tea

nor coffee?

(C) 20

(D) 4599 :

(D) 48 cm

(D) 1.5

(D) 25A

Which one has larger perimeter; a square with I cm long sides or a circle with 1 cm radius 2

(C) 1% Profit

(D) 50

(D) Rs. 2170

Cost of11 pencils is cqual to the selling price
of 10 pencils. Find the loss or profit percentage if 10 pencils

(D) 40

(C) Both have same (D) Cannot say 00:
perimeter

(D) 10% Loss
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93.

95.

96.

94. is cqualto

97.

98.

99.

The length of three sides of a triangle are inthe ratio of;: and its perimeter is 78cm. Find the length

of its sides.

(A) 36cm, 22cm, 20cm (B) 36cm, 26cm, 16cm

agiag gAIe ?

(A) %

The sum of 3 angles of a triangle is

(A) 270

(A) 10 Ltrs.

(A) Rs. 3125

(B) 14%

(A) R

2

(B) 90°

(B) 30 Ltrs.

If diameter of a circle is R', what is its area?

(A) amx a"=a mn

A mixture of 150 Litres of milkand water contains 20%% water. How much more water should be added so
that water becomes 25% of the new mixture?

(B) Rs. 50,000

(A) 75% (0

(B) TRZ

In 2:3 ratio, divide 240 into two parts.
240 2:3 agaisa gQ QNGGQ A9 9Q|

(A) 96, 144

4

100. Which one of thefollowing formula is not correct?

The perimeter ofa square courtyard is 100 meter. Find the cost of cementing it at the rate of Rs. 5 per m².

(B) (am =an

(C) 36cm, 24cm, 18cm

(C) 14%

(C) 360°

(B) 100 %

(C) 20 Ltrs.

(B) 192,48(C) 48, 192

(C) Rs. 200

101. If the radius of a circle is halved, its area will decrease by

(C) IR?

CRE2023 /C/ Page 12 of 24

(C) am xa=atn

(C) 25%

(D) 32cm, 28cm, 18cm

%?

(D 70%

(D) 180

(D) 15 Ltrs.

(D) Rs. 500

(D) 2 TR

(D) 144, 96

(D) a"bm= (ab)m

(D) 50%

https://applink.adda247.com/d/XhqWf9lSap
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402. A person crosses a 600 metre
longstrect

in S minutes.
What is his specd per hour?

(A) 8.8 km/hr

403. If one-third of one-fourth of a number
is15, whatisthe number?

4

104. Simplify (125)

(A) 25

(A) 45 B) 15
(C) l80, Sc

w (D) 20

64

(A) -6

rst 2 km/hr

105. 1f2= what is the value of 'a' ?

1

64

(A) Rs. 500

(A) 18

(A) 37

12

apin:nbo! (a)(B) 1

25

(A) 74 cm

(A) 180º

(B) 32

107. Find the mean of 5, 11, 16, 10 and 18.

5, 11, 16, 10 18 Q QIQQI IQA 6A50 ?

0

(B) Rs. 200

106. If an item with sale price of Rs. 1000 is sold at a discount of 20%, then how much money the customer will

save?

(B) 12

108. Find the median of 96. 37. 14. 35. 55, 110 and 24.

96, 37, 14, 35, 55, 110 6 24 Q AHGUAHQl 6@69 ?

(B) 35

7

(a

(B) 84 cm²

(C) 7.8 km/hr

(

(B) 650

(C) -250
3

50, 75° 6 80° gaß, 6969

(C) 128

109, Findthe area of the triangle whose sides
measure l3cm, 14 cm and 15 cm.s

(C) Rs. 980

(C) 16

(C) 53

CRE2023 /CI Page 13 of 24

(C) 54 cm

110. If3 angles of a quadrilateral are 50°. 75° and 80,
then find the remaining angle.

(D) 8.4 km/hr

(C) 155°

(D) -375

(D) 6

(D) Rs. 800

(D) 5

(D) 35

(D) 64 c²

(D) 90o

P
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Instructions: Each question under this part carries ONE mark. Please read the Instructions carefully and
answer the questions by selecting the most appropriate answer out ofthe multiple answers given below
each as A, B, C &D.

There shall be negative marking @ 0.5 markper questionfor wrong/multiple answers.

111. Indian player P.V. Sindhu is associated with which sports?

(A) Table Tennis

669 60g
(C) Ball Badminton

(A) Sweden

(C) Norway

112. Which country has recently been inducted into North Atlantic Treaty Organisation.
North Atlantic Treaty organisation (NATO) 60 g QIin 621âG16Qa @y ?.

113. Who had occupied Odishajust before Britishers?

(A) Mouryas
651la

(C) Mongols
16GAm

GENERAL KNOWLEDGE:35 Marks

114. Which of the below-given countries is largest in area?

(A) Peru

600
(C) Chile

(A) Chalukya

(C) Chola

(B)

601

(D) Tennis

Badminton

(B) Ukraine

(D) Finland

(B)

(D)

Portugese
agfana,

Marhattas

115. Ancient India's great man Chanakya was associated with which Kingdom?

(B) Argentina

(D) Brazil

CRE2023 /C/Page 14 of 24

(B) Kushan

(D) Mourya
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116. 1 May is celebrated inIndia as what day?

(A) Republic Day

(C) Labour Day

(A) Greek
1

117. Iraq country 1S associated with which ancient human civilization?

(C) Egypt

418. Whbat is theVande Bharat Express?
R6Q QIG YQ609° GS ?

(A) A South India Film

(C) A ship

119. Which country borders the country Ukraine?

(A) Russia

(C) Germany

(A) China
10

(C) Iran

(A) West Bengal

(C) Goa

(B) Martyr Day

6611|

(D)

(A) Quit India

(C) Sepoy Mutiny

(B) Mesopotamia
616a1961âat

(D)

(B)

(D)

121. Which of the following Indian states is not: a coastal state?

120. In which country, more than 10,000 people lost their lives in a severe earthquake in February 2023?

6FQi 9099 66 6@a 6Q60 Ya QNg QG°I6Q e0.000 Qa 6nlG glel galaism ?

Utkal Dibas

(B)

(B) Finland

Rome

(D) England

122.. Name the revolution of 1942 for India's
independence.

6691

A North Indian Film

ATrain

(B)

(D) Turkey

(D)

(B) Telangana

Pakistan

(D) Karnataka
606mGAAI

CRE2023 /C/ Page 15 of 24

Salt March

CivilDisobedience
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123. Which one of the following is not a sea port?

(A) Gopalpur

6aIlGg6

125.

(C) Dhamra

124. Mankind had originated from which place?
6@ aing QSHeIa agâ sQiaâal ?

(A) America

(C) Africa

(A) Malkangiri

(C) Koraput

(A) Kathak

(C) Kuchipudi

(A) South America

(C) Africa

Odia Film 'DAMAN', released last year, narrates the story of which district?

(A) South-West Asia

(B) Paradeep

(D

(C) South-East Asia

129. How many district are in odisha?

(D

(A) 30

(C) 28

"a uthe GREZ0237C7Page 16 of 2a

126. Which one of the following is a classical dance of North India?

(B) Australia

Puri

01

Asia

(D

vâa

(B) Kandhamal

127. Which continent had been least affected by first and second world wars?

(D) Raygada

(D

(B) Bharatnatyam

Kathakali

(B) Europe

128. Ancient Odisha's sailors were doing trade with which part of the world?

661

Asia

(B) Europe

(D) China and Japan

Q1 QIIN

(B) 31

(D) 29

https://applink.adda247.com/d/XhqWf9lSap
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130. Modern mankind is known in what name?

(A) Neanderthal

(C) Homo sapien
6Q167169âNR

131. What does 'NaCl' mean in chemistry?
egIae 3IR60 'NaCl' i6 GA?

(A) Common Salt

(C) Sugar

9099 1GgISQ aG96Q 6AQâ1

(A) Cricket

(C) Kabadi

(A) Mumbai

132. Mithali Raj, an Indian woman
player who retiredfrom sports in 2022, was associated with which sports?

(C) Qatar

(A) Andhra Pradesh

(C) Tamilnadu

(A) Itanagar

(B) Australopithecus

(C) Coimbatore
6@I06016Q

(D)

133. In which place the FIH Hockey World-Cup 2023 wans Plaved)ud tir C

6G6 aIR66Q 9099 1gI6a FIH Hockey world cup 561A1 gIaâaI ?

136. Who is presently the President of India ?

(A) Ganeshi Lal

(B) Vitamin

(C) Narendra Modi

(D) Acid

(B) Gymnastics

(D)

134. Which was the first state of India formed on Linguistic basis?qin z thias L

Homo erectus
691691 Q6AGA

(D)

(B) Rourkela

(B

(D

Tennis

l03. Which of thefollowing Indian cities is located in south India?

(D

Belgium

(B)

Odisha

eal
West Bengal

(B) Dharamshala
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Mohali
61191

Droupadi Murmu
6ãlaQ1 ad

(D) Ramnath Kovind
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137. Enc² formula is associated with which scientist?

E=mc'asia 6aa 6asfeG ag e@e ?

(A) C. V. Raman

(C) Newton

138. Palestine country is located in which continent?

(A) South America3

(C) Asia

(A) South

(C) East

(A) Dhenkanal
6eGAIR

139. In which direction of India, Himalaya Mountain Range is located?

(C) Kandhamal

(A) Pune
g6

(C) Patna

(B)

(A) Indonesia

(D)

(C) Canada

140. Mahanadiflows in which district of Odisha? p fei:laiteosta t

(A) Hinduism

(B) Europe

141. India's ancient city Pataliputra is presently known as what?

(C) Jainism

(D) Africa

(D)

(B) North

Einstein

(D)

Gallileo

(B) Khorda

(B)

(D)

142. Indian origin Rishi Sunak is Prime Minister of which country?

West

(D)

Boudh
6@lQ

Palampur

Panipat

(B) Spain

6A
United Kingdom

143. Khandagiri and Udayagiri caves of Bhubaneswar are associated with which religion?
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(B) Islam

(D) Buddhism
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A4. Which country had hostedtherecently concluded
FIFA World Cup football-2022?

(A) Qatar

(C) France

AA6 What is “RRR'that got famous recentlv?
ae868 0âs 6g1Q2lai "RRR GE?i
(A) An Indian Food

(C) An Indian film

(A) Random Assigned Memory
(C) Random Access Memory

147. A set of rules that governs data communication is

(A) HTML
(C) Software

148. Google Chrome is an example of
(A) wwW
(C) Web Server

Instructions: Each question under this part caries ONE mark Please read the instructions carefuly and
answer the questions by selecting the most appropriate answer out ofthe multiple answers given below i t
each as A, B, C, & D.

There shall be negative marking @ 0.5 markper question for wrong/multiple answers. etectfi 31

146. RAM stands for

149. Which of the following is a software?

(A) Projector
(C) MS-Office

150. A
(A) Field
(C) Database

(A) Digital Scanners

COMPUTER KNOWLEDGE:35 Marks

is an organized collection ofdata.

151. The following are all computing devices excep

(C) Notebook Computers

(B)

(D)

152. A secure website
(A)

(C) indicates a lock in front of the URL and

begins with https: u55t leeo

(B)

asks to login using e-mail ID and Password

()

Argentina

Ds. (B)

(D)

Morocco
S106G|

An Indian Dance

An Indian Novel

Acitt Ee u (B) Hard Diskuitho atAoild s GastA

(D) Printer

(B) Read only Memoryni as to n lo tu r

(D) Read Access Memory

(B)
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(D)

ProtocolTgoa tluy jot t Dot

Tools

(D) Web Browser oitksiE
o

euli (B) ce Maill t t iy

(D) Record

(B) Laptops
(D) Mobile Phones

asks to login with biometrics

asks to login with OTP J

https://applink.adda247.com/d/XhqWf9lSap
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153. LCD Stands for
(A) Light Crystal Display
(C) Liquid Crystal Display

154. Which of tiefollowing is considered as an ICT device?

(A) FM Radio
(C) Snart TV

155. A keyboard is what kind ofa device?
(A) Output
(C) Black

156. Identify the operating system out of the following.
(A) Microsoft Windows
(C) Google Chrome

157. Which communication protocol is used by Internet?
(A) HTML
(C) WWw

158. Which one of the following is the strongest passWord?
(A) hello 12345678

159. To cut off partsof an image is known as

(A) cropping
(C) cut off

160. Which is not a popular computer manufacturing brand?
(A) ACER
(C) HP

(A) Mouse, Printer, Monitor
(C) Scanner, Printer, Monitor

(81

(C) 123456789 slotveem s tel, (D)

(A) Collision
(C) Group

(A) Search Engine
(C) Website

164. The shortcut key to copy a file is

(A) ctrl + V

(C) alt +C

(B) Lithium Crystal Display
(D) Laser Crystal Display

(B) Multi Meter

165. A web page is located by usingat

(D)

(A) Uniformly Reachable Linkso ci, (
(C) Universal Record Linking

(B) WordProcessing
(D)

(B)

(D)

Tablet

161. Which of the following groups consists of onlyoutput devices?

Input

Mozila Firefox

(D) W3C

Adobe Photoshop

(B) password
Aprfd@2021?

162. Which of the following options is used to combine more than one objects in a single object?

(B) wrapping
(D) trimming

(B) NOKIA
(D) HCL

163. A collection of web pages linked together in a particular order is known as

(B) Plotter, Printer, Monitor
(D) Keyboard,Printer, Monitor

(B) Merge
(D) Combine

(B)

(B) Web Browser
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(D) Webserver

ctrl+C
(D) shift + C

(B) Uniform Resource Locator

(D) Universal Record Locator

https://applink.adda247.com/d/XhqWf9lSap
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166. Each computer connected to the Internet must have

167.

(A) a Unique IP address

(C) a Pentium Processor

(A) CPU

(C) Motherboard

168. Most commonly available computer keyboard is

(A) ABCDEF

(C) QOLTY

(C) Modem

(A) lcon
(C) Folder

171. What is the function of UPS?

is called the brain of a computer.

(A) Increases speed of computer

(C) Provides Storage

(A) period (called dot)

(C) comma

169 Which of these services Willnot 0e provided by a tvnical Internet Service Provider ((SP)?
(A) An e-mail address

170. Which of the following items is not present on deskton?

173. ICT Stands for

(A) Information and Communication
Technology

(C) Information and Computer Technology

(A) Windows Explorer

175. A

(C) MS- Office

(A) Library

(C) Folder

(B) a modem connection

(D) a Web Browscr

(A) Sample

(C) Style

(B)
(D)

172. Domain names always have two or more parts, separated by a

(A) Malware
(C) Hardware

AAOWHOUoB) QWERTY

177. Physical structure of a computer is called

(A) Double-Clicking
(C) Primary-Clicking

Monitorl as ke llest h

Keyboard

(D) ALTER

format.

(B) Technical Help

(B)

(D) Internet Connection

(D)

Taskbar

174. Which ofthefollowing program starts as soon as computer gets switched on ?

Disk Drive

(B) Provides Internal Connection

(D) Provides backup power

(B) hyphen
(D) semicolon

(B) Information and Call Technology

(D) Information and Connection Technology

is location or container in which files can be stored.

(B) Utility

(B) Operating System

(D) Text Editor

176. Which of thefollowing is a model document that can be uscd to create another document?

CRE2023 /C/Page 21 of 24

(D) Recycle Bin

(B) Model

(D) Template

(B) Application
(D) Software

178. When you quickly press and release the left mouse button twice, you are

(B) Secondary-Clicking
(D) Pointing

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


179. What is the permanent in-built memory of computer called?
(A) CPU
(C) RAM

180. All of the following are storage devices except
(A) Printers
(C) Hard Disk Drive
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(B) CD-ROM
(D) ROM

(B) DVD Drive
(D) USB Drive

USE FOR ROUGH WORK.
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